- At least 18 people were at the party.
- The crowd was made up of no lessthan 80
people.

- The Super Bowl is viewed by more than one @%

a1

billion viewersevery year.
Hint:

> Greater Than < Less Than
> Greater Than or Equal to < Less Than or Equal to




.Solvm g Inequalities by

Adding or Subtracting

Write the inequality for each situation.

1. There are at least 28 days in a month.

days in a month = 28

2. The temperature is above 72°.
temperature > 72°

3. At most 9 passengers can ride in the van.
passengers < 9
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.Solvm g Inequalities by

Adding or Subtracting

Essential Question Standard

How do you solve MCCY7.EE.4: Use variables
Inequalities that involve to represent quantities in
one operation? a real-world or

mathematical problem,
and construct simple
equations and
iInequalities to solve
problems by reasoning
about the quantities.
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Solving Inequalities by
» Adding or Subtracting

1. Check the order. Rearrange if
necessary.
x > 3 this is OK
3 < x Rearrange so the variable comes first.
X > 3 (mouth should be eating the same thing.)

2. Draw a circle on for the number on the
number line. Shade in the direction of the
inequality symbol.
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.Solvm g Inequalities by

Adding or Subtracting

- : Greater Thanor  Closed Circle
: l Equal To
B s - X >3
| < *: Less Than Open Circle
L hessssuses ! X<3
< i Less Than or Closed Circle
| E— i Equal To
"""""""""""""""""""""""""""" ' X<3

Video
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https://youtu.be/JvDpRGbmKzE

Solving

Inequalities by

" Adding or Subtractin

o

B

_. an

—

Home ": Ins-tn'. Page Layout References Mallings Review view %)
T . . - — = 34 Find ~
| e Combia phiadingd) _~ |2~ [ SONH(23) |1 Sl B pambceoe asmocene AaBbC: aaBbee |Ad B assece - o
| Fastz P scmat Painter B I U - e x x Aa'||“"’-’vé'| == ? : f Normal 1Mo Spaci. Headingl  Heading 2 Title Suntitle - EE‘--:"QE s Select -
Clip_lﬂrq Il | Font Faragraph Styles ] Editing
What does each of the symbols mean! 1
< = > =
When we worlk with J'I‘}EQual'rties, we use 3 to show our solution. Why do you think that is?
e
Rules for graphing: What is the difference between 2n open and closed circle!
<, zhaves circle What doss filling in the circle mean in terms of the
e have an circle solution?
i 2 3 @& &
1 2 3 4 (]
Graph each inequality below:
1: =02 2. x < —4 Fe=d 4. x>0
5 43290 123 48 TH5 4324001 23 458 TS 4329001 23 4 8 P EEEEEEER

“Inequalities Guided Motes™ 996 characters fan approximata valuaj,

HOLT McDO




. Solving

Inequalities by
Addmg or Subtracting

Addition and Subtraction Properties of Inequality

You can add or subtract the same number on both sides of an inequality,

and the inequality will still be true.

3<5
3+2<5+2
5<7

6> 2
6—-—1>2-1
5> 1

4=<7
4+3=<7+3
7=10

0=-3
0-4=-3-14
4= -7
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.Solvm g Inequalities by

Adding or Subtracting

Additional Example 1A: Using the Addition Property
of Inequality

Solve. Then graph the solution set on a number

line.
n-7=<15
n-7< 15
+7 +7 Add 7 to both sides.
n < 22

Draw a closed circle at 22 then
shade the line to the left of 22.

| T
-88 -66 -44 -22 0 22 44 66
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.Solvm g Inequalities by

Adding or Subtracting

Additional Example 1B: Using the Addition Property
of Inequality

Solve. Then graph the solution set on a number

line.
a-10= -3
a-10= -3
+ 10 +10 Add 10 to both sides.
a > 7/ Draw a closed circle at 7.

Then shade the line to the right.
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.Solvm g Inequalities by

Adding or Subtracting

Check It Out: Example 1A

Solve. Then graph the solution set on a
number line.

d-12 < -18
d-12 < -18
+ 12 + 12 Add 12 to both sides.
d < -6
Draw a closed circle at -6 then
shade the line to the left of —6.
Yt
-8 -6 -4 =2 0 2 4 6
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.Solvm g Inequalities by

Adding or Subtracting
Check It Out: Example 1B

Solve. Then graph the solution set on a
number line.

b-14 = -8
b-14 > -8
+ 14 +14 Add 14 to both sides.
b > 6 Draw a closed circle at 6.

Then shade the line to the right.
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.Solvm g Inequalities by

Adding or Subtracting

Additional Example 2A: Using the Subtraction
Property of Inequality

Solve. Check each answer.

d+ 11> 6
d+ 11> 6
-11  -11 Subtract 11 from both sides.
d > -5
Check
d+ 11 > 6

0+112 6 O is greater than -5.
Substitute 0 for d.
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ACTICE

lve each inequality, and graph the solution set.

x+8>4 2. t-15<30

> Attt
= wll =3 =2 = 0 1 | 3 4 5 =50 =40 -30 -20 -10 0 10 20 30 A4(

k+§:>% 4. r-02<06

- | | I —t—t—t—+—+—1 D e B e s | | | 3

5 =t 3 1 1 0 T 1 3 1 5 -1 08 -06-04-0.2 0 0.2 04 0.6 0.
4 4 "2 13 4 2 4 4

ve each inequality, and explain what the solution set means in the
1text of the situation.

At most, 47 passengers can sit on a bus. There are already 29 passengers seated on the b
The inequality p + 29 < 47 represents this situation, where p is the number of additione
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Complete the tables.

Inequality Mu;it:j;:!l{,:?ch New Inequality N?r:rjén:?g:llsiteg s
3<4 2
2>-3 3
—-1<6 5
55 2 -1
1<7 -5
-8 > —10 -8
Inequality Di;i‘;i: ::fh New Inequality N?:JL":??:IEE Is
4 <8 4
12 = ~15 3
-16 <12 =4
1555 -5




:'E: B When both sides of an inequality are multiplied or divided by a_ _number, the
£ inequality is no longer true.
-
g C Complete the tables.
¢ Multiply New Reverse the heversed 555"“’“'
Inaquality each side by: | Inequali Inequality Symbol iakes It
y: quality equatity sy True or False?
5m.2 -1 -5>-2
1= -5 -5=-35
-8 >-10 -8 64 > 80
Module 6 149 Lesson 2
Inequali Divide each New Reverse the Reversed symbol
quatity side by: | Inequality | Inequality Symbol | makes it True or False?
—-16 < 12 —4 4<-3
155 -5 -3> -1
REFLECT

1. Conjecture When both sides of an inequality are multiplied or divided by a negative

number, you must

\ to make the statement true.

e - B — e e T ——————————————————————————————




nicyudalitico.
Multiplying and Dividing
by a Negative Number

Multlpllcatlon Division
_—5 <5 3y =9

When multiplying or dividing
by a negative number, | should

Fill in notes then glue into interactive
notebook.




.Solvm g Inequalities by

Adding or Subtracting

Fold example note page in 2 hotdog style.
Label one side FLIP
and the other DON'T FLIP
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.Solvm g Inequalities by

Adding or Subtracting

Are we going to flip or not flip?

Solve.

< -4

NO DA
IA

-4

(4)% <(4)(-4) Multiply both sides by 4.

IA

C -16
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.Solvm g Inequalities by

Adding or Subtracting

Are we going to flip or not flip?

(—4)_i< (-4)0.3 Multiply both sides by -4

and reverse the inequality
t <-1.2 symbol.
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.Solvm g Inequalities by

Adding or Subtracting

Are we going to flip or not flip?

Solve.
3 -5
n

6 -5

I/\

(6)% <(6)(-5) Multiply both sides by 6.

n < -30
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.Solvm g Inequalities by

Adding or Subtracting
Flip or not flip?

Solve.

_%> 0.9
_L3> 0.9
(-3)—=< (-3)0.9 Multiply both sides by -3

and reverse the inequality
r <-=2.7 symbol.
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.Solvm g Inequalities by

Adding or Subtracting

Flip or not flip?

Solve. Check your answer.

5a = 23
Sa 2 23 Divide both sides by 5.
5 5
23 3
a7 or 45
Check

5a = 23

5(5) 223 5 is greater than 4% ,

5 Substitute 5 for a.
25223
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.Solvm g Inequalities by

Adding or Subtracting

Flip or not flip?

Solve. Check your answer.

192< -24b
192 < -24p  Divide both sides by -24,
—24 —24 and reverse the inequality
8> b symbol.
Check
192 < -24b

192< —-24(-10) -10 is less than -8.
> Substitute -10 for b.
192 < 240 -
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son.pdf - Google Chrome

m/math14/ga/msm/student/osp/g7 /data/unit02/mod06/lesson02/exploration_core_lesson.pdf

WB: Pg. 152

Solve each inequality, and graph the solution set.

1. 21 . A

37 2. —=>3
e | | | | i 1 l | | | L P | | | ] 1 1
o1 | [ [ | | | I I | [ -5 il | | | 1 1
-8 1.3 .1.74 @ % 3 3 & 5 -25 =20 -15 -10 -5 ©
4 4 2 4 4 2 4 4

3. 0.4s<3.6 4. 12p < -48
R e S s e o o e B Gt
-0 8 -6 -4 -2 0 2 4 ) g 10 -5 -4 -3 =2 -1 0

Solve each inequality, and explain what the solution set means in the
context of the situation.

5. Sandra has more than 90 baseball cards. She keeps the cards in 6 boxes,


https://youtu.be/tSPBouyDu2c

.Solvm g Inequalities by

Adding or Subtracting

Homework: Workbook Pg. 147 #1-6
Workbook Pg. 153 #1-12




